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Question No. 1
e fAfad I a1 5% & Thglg sarer W A fFar a, sarer v @ ast & Qe afds w7 & f
IS AR IR SATT $.2522 B, A HAUS M I @l |
A)%.17000 B)%.10000
C)®.13000 D)%.16000

A certain sum of money is invested at 5% Compound Interest, compounded annually for three years. If the
computed interest is Rs.2522, then find the principal.

A)Rs.17000 B)Rs.10000
C)Rs.13000 D)Rs.16000
Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 1) (objection.aspx?qwr=3410135402&qwer=1)

Question No. 2
farfaf@a & & fraer ggel IR o & R g % ORt 3R g 87
A)FJI‘\E?-T B)sTecd

C)3Tg+¥cIsad D) R e

Who among the following first discovered that the earth revolved around the Sun?

A)Newton B)Dalton
C)Einstein D)Copernicus
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 2) (objection.aspx?qwr=3410135402&qwer=2)

Question No. 3
Ife 'JOSEPH' &I 'FKOALD' & &7 # Feag fham ST €, dr 'GEORGE' #I $¥ g fhar sirwem?
A)JAKINS B)CAKNCA
C)CAKNIT D)CADMNO

If 'JOSEPH:' is coded as 'FKOALD', then how will ' GEORGE' be coded?
A)JAKINS B)CAKNCA
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C)CAKNIT D)CADMNO
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3410135402&qwer=3)

Question No. 4
9T 9" FEl W R §7?

INEIGE] B)=g I
C)iR= D)elecel

Where is Big Ben located?

A)Berlin B)New York
C)Paris D)London
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 4) (objection.aspx?qwr=3410135402&qwer=4)

Question No. 5
(1, 2), (2, 3), (x 4)ﬁ§3ﬁmﬁﬁaﬁ§awm4oﬁsﬂé%l X' &7 AT AT Al
A)-77 B)25
C)39 D)-17

The area of the triangle formed by the points (1, 2), (2, 3), (X, 4) is 40 sq. units. Find the value of "X

A)-77 B)25
C)39 D)-17
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3410135402&qwer=5)

Question No. 6
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327 x 4256 & AT FT Fifem)

Find the value of 3-27 x%/256

A 4 B. 12
C -16 D 27
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 6) (objection.aspx?qwr=3410135402&qwer=6)

Question No. 7
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gidl & STFeT EaRT Gidl HF THRI # Sirder & o FF geR F M &7 392 BFar Frar 2
A)TIET (Tele) B) CelTelientedare

C)3cae D)3/ader

Which type of mirror is used by dentists to concentrate light on the tooth to be examined?

A)Plane B)Planoconvex
C)Convex D)Concave
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3410135402&qwer=7)

Question No. 8

T gl # IFARt i 3 510 3mige Id § R I et 7 siaae 240 3migqe I §1 WaR & gE
g arel 30 et & 7 7 gfdfeer miget A i Tear A w1

A)250 B)276

C)285 D)280

A library has an average of 510 visitors on Sundays and 240 on other days. Find the average number of
visitors per day in a month of 30 days beginning with a Sunday.

A)250 B)276
C)285 D)280
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 8) (objection.aspx?qwr=3410135402&qwer=8)

Question No. 9
farafaf@a & & frw T & 33 Y Hdftra 37

A)grehr B)Pesier
C)efaw D)sTEheaTel

With which of the following games is the Wade Trophy associated?

A)Hockey B)Football
C)Tennis D)Basketball
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3410135402&qwer=9)

Question No. 10
T GHEGR ©.70 T 70 4« &7 1 FHATAT g1 3HHT A WieRra e Hifre
A)7% B)0.1%
C)1% D)10%

A shopkeeper gains 70 paise on Rs.70. Find his gain percentage.
A)7% B)0.1%
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C)1% D)10%
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 10) (objection.aspx?qwr=3410135402&qwer=10)

Question No. 11
ar §EAT 5 : 8 & U # g1 I wdF F 12 Ssr Aew 8, A 3 i 3 : 4 & JT g1 Tl H@EAr
& AT Gl H|
A)20 B)16
C)10 D)15

Two numbers are in the ratio of 5 : 8. If 12 is added to each, then they are in the ratio of 3 : 4. Find the value
of the first number.

A)20 B)16
C)10 D)15
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3410135402&qwer=11)

Question No. 12
fArafaf@a sl A aaueiqds 9§ AR A Qe v gee w1 3er &1 e SafFT - 3T, S, A, R,
Riar, a1, AT IR MFa & FART A NS HeET-3HeT Al W Fa §, AT ool adt BF & 30 w7 A
wd & 3ARA $r a0 fFgel Afed W A« ve fawr §, 3R 30 I & #5a w o fowr § 31k 38 $
S YR Telcll § T Fa FW A FAfder W 16 fa@r §| Ao 5dF #fder W e &1 Aef 3R aiper & darr
hael & g oler §d €1 30T, AMpel & S ok @ &1 3707 3R TSt & I hael TR 9T T 81 T, IR
& OF FW Wl § ofehed a8 T U AT W 81 J@anl Rar, vF q7 F&Ar arely Aforer W @ar g1 Rar
IR e & &g & dr wa § R # ¥ #fea dEar 2 W Sl ®ar 82
A faea B)Irat
C)amsper D)

Read the following information carefully and answer the question given below. Eight persons—Arun, Raj,
Sonu, Vinay, Siva, Babu, Sekar and Gokul live on eight different floors of a building, but not necessarily in the
same order. The lowermost floor of the building is numbered one, the floor above that is nhumbered two and
so on till the topmost floor is numbered eight. Sonu lives on the floor numbered 5. Only two people live
between Sonu and Gokul. Arun lives immediately below Gokul. Only four people live between Arun and Raj.
Raj lives immediately above Sekar but not on the topmost floor. Siva lives on an even numbered floor. Two
people live between Siva and Vinay. Who among the following lives on the floor number 2?

A)Vinay B)Raj
C)Gokul D)Sekar
Answer Key:B  Your Response : C (Wrong) Raise Objection(Question No. 12) (objection.aspx?qwr=3410135402&qwer=12)

Question No. 13
fArfaf@a & ¥ Fladr &7 o 9t Fa33r ofer 2018 & 3ifaw Aw F v 3gar urea Bwar §2
A)dfHe Uegard 3R qeaT arRed B)ISRT Wiedel SkeH AR darefe o
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C) D)

A Tgerd 3R gRAmoT Frerd ST aREE 3R eer ool

Which of the following teams qualified for the final match of Pro Kabaddi League 20187?

A)Tamil Thalaivas and Patna Pirates B)Gujarat Fortune Giants and Bengaluru Bulls
C)Telugu Titans and Haryana Steelers D)Bengal Warriors and Dabang Delhi
Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3410135402&qwer=13)

Question No. 14
TH FR A 840 el fr g v wAW A & g Fr| ARG swhr Afy 10 Refveer ftw @, O 3@ T A7
W FA F 2 9 FH FAG 91| FR $r 71fq qard|
A)60 Tef/Eer B)42 ferafi/eer
C)40 frai/eer D)70 ferafi/erer

A car covered 840 km with a uniform speed. Had its speed been 10 km/hr more, it would have taken 2 hours
less for the journey. Find the speed of the car.

A)60 km/hr B)42 km/hr
C)40 km/hr D)70 km/hr
Answer Key: A  Your Response : B (Wrong) Raise Objection(Question No. 14) (objection.aspx?qwr=3410135402&qwer=14)

Question No. 15
T BT F F9d TF TR AW FF v v B #F AT FOr F;

THET HifAT]
— | |
(1) (2) 3)
(1) (3) (6)
A, s 2,453 B. L2 3,456
C. [L3245%6 D. B ¥ F15 =61
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Group the given figures into three classes using each figure only

once.
— ||
(1) 2) 3)
) ) (6)
A L6 2,453 B. 23456
C. 1,3 2.4 5,6 D. |Noneofthese
Answer Key:B  Your Response : C (Wrong) Raise Objection(Question No. 15) (objection.aspx?qwr=3410135402&qwer=15)

Question No. 16
(0.756 x 0.75) = ufaerd & &7 7 FX o@r 1 Fhar &2
A)56.1% B)56.7%
C)57.9% D)58.7%

How can (0.756 x 0.75) be written in the form of percentage?

A)56.1% B)56.7%
C)57.9% D)58.7%
Answer Key:B  Your Response : A (Wrong) Raise Objection(Question No. 16) (objection.aspx?qwr=3410135402&qwer=16)

Question No. 17
T T PR # ¥ B g ¥ wafta §2

A) IRTATCTH B)&YUh
CyFRTR D)3hfEr

With which of the following dances is Rajendra Gangani associated?

A)Bharatanatyam B)Kathak
C)Kuchipudi D)Odissi
Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 17) (objection.aspx?qwr=3410135402&qwer=17)

Question No. 18
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H@eT F QX F| 143, 120, 99, 80, 63, (..)
A)49 B)50
C)48 D)51

Complete the series. 143, 120, 99, 80, 63, (...)

A)49 B)50
C)48 D)51
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 18) (objection.aspx?qwr=3410135402&qwer=18)

Question No. 19
Paraast 3P g8 Rl AW Fae & aws FiT §?
A) el FellH 3TeTTG B)3H & 1% fashe et
C)sl. S. eSSt DAl g%

Who is the author of the book 'Glimpses of World History'?

A)Abul Kalam Azad B)None of the options
C)Dr. S. Radhakrishnan D)Jawaharlal Nehru
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3410135402&qwer=19)

Question No. 20
I eeg SR T 10 Hofer A Ao gk ciF & G FEM? PR : NEW 0 fmesfex @ ?
Ayt B)&erex
C)ueshs D)ffei#HeR

Which word will best complete the relationship given below? Ocean : Puddle :: Kilometre : ?

A)Miles B)Hectare
C)Acre D)Millimetre
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 20) (objection.aspx?qwr=3410135402&qwer=20)

Question No. 21

Y Fa]|
Al B)Y
C)F D)R

Find the odd one out.

A)l B)Y
C)F D)R
Answer Key: A  Your Response : A (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3410135402&qwer=21)

Question No. 22
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FhA FIE & ~rreRii fr a1 fagica $r 3y = 32
A)65 a¥ B)70 a¥
C)60 a¥ D)75 a¥

What is the retirement age of the Supreme Court Judges?

A)65 years B)70 years
C)60 years D)75 years
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 22) (objection.aspx?qwr=3410135402&qwer=22)

Question No. 23
FAR HRUE 1 PR F ¥ Slaar sgede I i wAER A Ry oo Re I @ @6 32

A) 3T 352 B)31Izde 356
C)3tIede 360 D)3ifede 370

Which of the following Articles of our constitution deals with the special status of Jammu and Kashmir?

A)Article 352 B)Article 356
C)Article 360 D)Article 370
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3410135402&qwer=23)

uestion No. 24

& & hy & e T 82
A 12 B 15
C 16 D 17
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How many squares are there in the given figure?

A 12 B. |15
C 16 D. |17
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 24) (objection.aspx?qwr=3410135402&qwer=24)

Question No. 25

fmfaf@a &7 & AR gEer F FEueigEs 9§ AR MY Re v wea & 3R &1 Rl e @ v
AFRET e F 999 & v Ae Ads e v §)| afasmh & 3 & () F7 & Fa 50% 36 F arY
A gl (i) T odem F &7 & F7 40% 3w greT gl (i) 10 R, 1996 Fr ~aH 3 24 af §
w4 3R Aftwan g 29 af @ 3w FFF SN AR (v) FH @ FA & anf T AHRT FOFH F w7 F
HH T B I g Bl W@ A F St 37 fcar w3 ATads A qu A g R{arw (v) ¥ afr
3% U AT yatsT F F5 BealAr g1, df 39% AHS S AG TG, ALK & T Aol gem| et
AAA 7 Sl 37igaR | ATYES A QU FAU @ Rare (i) F, After sEe Al st & v F e
ast aF w1 B @, o 3 AAS B A, ABR F I A geml AT F AR weter # e
Aot 7 WEtas Hr Bl qut fir §1 3@ 5w 5 3, 1972$T§mm|agﬁaﬁr4a&#wﬂwﬁw
ATHTET HAFR & §T & FIA N W@ ¢ 3897 QT qdem 7 50% 3iF ured Fe g

A)3FHICAR T T TgT fhaT ST Thal & B)3FHIcaR &I HET Ui, HAWhiedl & urd HS ST
grem|
C)3¥HIcar & fged fonar S =nfgw D)3er 3rqaied

Study the following information carefully and answer the question given below. Following are the criteria for
selecting a marketing officer by a company. The candidate must: (i) Be a graduate with at least 50% marks.
(i) Have secured at least 40% marks in the written test. (iii) Not be less than 24 years and not more than 29
years as on 10 December 1996. (iv) Have work experience of at least two years as a marketing officer. In
case a candidate satisfies all the other criteria EXCEPT (iv), but has a diploma in Marketing Management,
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his/her case is to be referred to the General Manager, Marketing. In case a candidate satisfies all the other
criteria EXCEPT (i), but has worked as a marketing officer at least for three years, his/her case is to be
referred to the Director, Marketing. Suman has done his post graduation in Marketing Management with first
class. He was born on 5 August, 1972. He has been working in an organization as a marketing officer for the
last 4 years. He has secured 50% marks in the written test.

A)The candidate cannot be appointed B)The candidate has to be referred to the Director,
Marketing

C)The candidate has to be appointed D)Data inadequate

Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3410135402&qwer=25)

Question No. 26
ar a3t 1 AT 25 § AR 3% T F IR 75 71 3T o HEAS F & FHAR AT 82
A)3 B)5
C)8 D)2

The sum of two numbers is 25 and the difference of their squares is 75. Find the difference between the two

numbers.

A)3 B)5

C)8 D)2

Answer Key: A  Your Response : B (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3410135402&qwer=26)

Question No. 27
TatafEgarem s s s= R s Iacs

Fraferfas arfamr & v asar 6 afo@wft e § 72 797 § ufag 20 & 9/
WTH T2 $T &7 F9077 72 2

LAER

aﬂf{ 5200 | 720 | 8500 | 980 | 7400 | 850 | 6800 | 775 | 9500 1125

daffsr1e | 7500 | 840 | 9200 | 1050 | 8450 | 920 | 9200 | 980 | 8800 |1020

Eﬂl'ﬂ'ﬂa'!ﬂ' 6400 | 780 | 8800 | 1020 | 7800 | 880 | 8750 | 1010 [ 9750 [ 1250

Fdlch 8100 | 950 | 9500 | 1240 | 8700 | 980 | 9700 | 1200 | 8950 | 995
gy 7800 | 870 | 7600 | 940 | 9800 | 1350 | 7600 | 945 | 7990 | 885
IUfPaa(aT). AFEANErd.)
oy 39T % S 39 =12 &1 siad A1a HiHS ST H e O Ui g

A 6680 B. 6850
C. 7480 D. 7550
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Study the following table and answer the gquestion given below it.
The following table represents the number of candidates appeared and qualified
in a competitive examination from different states over the years.

Kerala

Tamil Nadu

Andhra
Pradesh

Karnataka

Maharashtra

Appeared (App.), Qualified{(Gual.)

Find the average number candidates who appeared from Kerala during

the given years.

A 6680

6850

C. 7480

7550

Answer Key:C  Your Response : D (Wrong)

3T A G|
A)9, 80
C)5, 24

Find the ODD one out.

A)9, 80

C)5, 24

Answer Key:D  Your Response : B (Wrong)

AT Bt & O FIT 75% & 97T §?

A)2/3
C)1/8

Which of these fractions is equivalent to 75%?

A)2/3
C)1/8
Answer Key:D  Your Response : B (Wrong)

Raise Objection(Question No. 27) (objection.aspx?qwr=3410135402&qwer=27)

Question No. 28

B)3, 8
D)7, 50

B)3, 8
D)7, 50
Raise Objection(Question No. 28) (objection.aspx?qwr=3410135402&qwer=28)

Question No. 29

B)1/4
D)3/4

B)1/4
D)3/4
Raise Objection(Question No. 29) (objection.aspx?qwr=3410135402&qwer=29)

Question No. 30
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AT Qet 7 ¥ oS Oy e wsHlE’ & 6y 87
A)drer B)%eel
C)#erehelTall D)3Te%

With which of the following sports is the term 'Stymied' associated?

A)Polo B)Wrestling
C)Boxing D)Golf
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 30) (objection.aspx?qwr=3410135402&qwer=30)

Question No. 31
TR TS T Igell TT Fgl AT R ar oa1?
A)FSS B)s fawelr
C)egik D)a&elehedT

Where was the first session of the Constituent Assembly held?

A)Bombay B)New Delhi
C)Lahore D)Calcutta
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3410135402&qwer=31)

Question No. 32
F, R®#T 3T &1 E, S fr &f 3R F &r geir §1 R &7 E & o1 Ta g2
A)SST B)frar
C)3er 39ared D)arATe

F is the son of R. E is the mother of S and wife of F. How is R related to E?

A)Brother-in-law B)Father
C)Data inadequate D)Son-in-law
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3410135402&qwer=32)

Question No. 33
ey FE&AT A BT T HEY B Fa@ e b A QU AEN? 31:4 1184 1 ?
A)4 B)22
C)16 D)10

Which number will best complete the relationship given below? 31:4::84: 7

A)4 B)22
C)16 D)10
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 33) (objection.aspx?qwr=3410135402&qwer=33)
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Question No. 34

qfe 1 +5 _+3%_10 g, a1 X’ &1 HT AT e

If 1 +5 %+32—10 50 find the value of 'x'.

A 3 B. |5
C 7 D. |9
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 34) (objection.aspx?qwr=3410135402&qwer=34)

Question No. 35
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Rl SR w9 ¥, 3 AN, R A ager ¥ @, e @ sME ¥, AR e, s o ¥ Ay
STERT W 0 et 82

A)#TS B)T

Cyaen DR

Vinoth is the brother of Bhaskar, and Manohari is the sister of Vinoth. Babu is the brother of Preetha, and
Preetha is the daughter of Bhaskar. How is Babu related to Bhaskar?

A)Brother B)Son
C)Uncle D)Father
Answer Key:B  Your Response : A (Wrong) Raise Objection(Question No. 35) (objection.aspx?qwr=3410135402&qwer=35)

Question No. 36
HRa & T & F Hlaar ar a7 w1 R a8 32
A)dfFar B)uRaga
C)Eljﬁ D)sYAT

Which of the following is NOT a part of service sector in India?

A)Banking B)Transport
C)Agriculture D)Insurance
Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 36) (objection.aspx?qwr=3410135402&qwer=36)

uestion No. 37

fwed & & 30 Fla A gF A A9 G v e F wEw =0
T ¥ [ FAT 2

?

/
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Choose from the alternatives the figure that best completes the
pattern given below.

?

/

. / D.

Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 37) (objection.aspx?qwr=3410135402&qwer=37)

Question No. 38
YA 50 yrehfaieh st # 3 AT #)
A)12.25 B)25
C)21.25 D)25.5

Find the average of the first 50 natural numbers.

A)12.25 B)25
C)21.25 D)25.5
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 38) (objection.aspx?qwr=3410135402&qwer=38)

Question No. 39
39 W A, AT FY RE aw § e a1 ax fswd Re aw &) 3@ Ty (forsalf) gt S anfeers &0 @
I 3UgFd §1 FUA: 1) W Sorer 3w § 2) W aEew g €1 3) |l e} g &) fswd: | Fo o
a3 gl 1. T A T34 §l Il TS AT Sored g1 V. F& i Sioret
Ayhad fasey | 3R IV dreeT R g B)ahael fasay Il 3R IV gree e g1
C)dae sy || uTele aar gl D)ahaer fasswy | 3R Il greeT T g1

In this question, three statements are given followed by four conclusions. Choose the conclusion(s) which
best fit(s) logically. Statements: 1) All jungles are towns. 2) All towns are villages. 3) All cities are villages.
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Conclusions: |. Some villages are towns. Il. Some cities are towns. lll. Some cities are jungles. IV. Some
villages are jungles.

A)Only conclusion | and IV follow B)Only conclusion Il and IV follow
C)Only conclusion Il follows D)Only conclusion | and Il follow
Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3410135402&qwer=39)

Question No. 40
farafaf@a 7 @ fra wae o aewEge 1 @A R ar
A)3TehsT B)STeR
C)2mgsTel D)3iRereie

Who among the following emperors built the Taj Mahal?

A)Akbar B)Babur
C)Shah Jahan D)Aurangazeb
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3410135402&qwer=40)

Question No. 41
fArfaf@a & ¥ rasr "g$ Ea" & §7 F =T S1ar g?
AT & FS e g B)Te & SS3iararss
C)3IH &Ia SBATTFASS D)3 Frea sS3ieraTss

Which of the following is known as "Dry ice?"

A)None of the options B)Liquid carbon dioxide
C)Solid carbon dioxide D)Gaseous carbon dioxide
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3410135402&qwer=41)

uestion No. 42
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TS T UF THel HIST S(1dT ¢ AL 36 U7 U 27 a1 S1am & 54T 3 (X),
(Y) &7 (Z) ARt | fam=mar @ g1 39 fEwed w1 =1 Fits, ST i (2)
T 978 U =9 % 9gd ATTE: THI )

A piece of paper is folded and a hole is made on it as shown in figures
(X), (Y) and (Z). Choose the alternative that closely resembles the
unfolded form of figure (Z).

A |P B. |Q
C R D. |S
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=3410135402&qwer=42)

Question No. 43
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120 #ex &t TH IS fHa 95 A 6 AFHs H IR I AT §1 Fardieveer 7 ¢ Hr WaR Fr 82
A)72 Trefeer B)75 fereli/erer

C)60 fraf/eer D)70 fasfeer

A 120 m long train crosses a tree in 6 seconds. What is the speed of the train in km/hr?

A)72 km/hr B)75 km/hr
C)60 km/hr D)70 km/hr
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 43) (objection.aspx?qwr=3410135402&qwer=43)

Question No. 44
T & & w1 A R a1v Fay # ge@ g ald & @ FWM? REASON : SFBTPO = THINK : ?
A)UJKPM B)SGHMJ
C)UHNKI D)UIJOL

Which of the following will best complete the relationship given below? REASON : SFBTPO :: THINK : ?

A)UJKPM B)SGHMJ
C)UHNKI D)UIJOL
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 44) (objection.aspx?qwr=3410135402&qwer=44)

uestion No. 45

39 faseq F1 =37 F7 51 &1 T2 A F7 ALH A= TG0 I FIAqT G TATE
=407 % XY % |19 74T ST 2|
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Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

. @ .

@

o @ D.

5,

Answer Key:B  Your Response : D (Wrong)

Raise Objection(Question No. 45) (objection.aspx?qwr=3410135402&qwer=45)

Question No. 46

AR fagle rfaf@d & & fha af @ yF g ar

A)1957
C)1857

B)1557
D)1657

In which of the following years did the Indian Mutiny begin?

A)1957
C)1857
Answer Key:C  Your Response : A (Wrong)

Hel & dAT HEIHAT HleT g2
A)FFHT TTEr
C)so1d & #I$ ey A8t

Who is the present Chief Minister of Kerala?
A)Oommen Chandy

C)None of the options

Answer Key:D  Your Response : B (Wrong)

B)1557

D)1657
Raise Objection(Question No. 46) (objection.aspx?qwr=3410135402&qwer=46)

uestion No. 47

B)K. &%UTERIOT

D)eRTE fasraeT

B)K. Karunakaran
D)Pinarayi Vijayan
Raise Objection(Question No. 47) (objection.aspx?qwr=3410135402&qwer=47)

Question No. 48
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39 WA A, U FUA Ar e § 3R 39F a@g A s e aw g 3w s A g S 9 F I3 W
A IIGFI AN FIT L>0=NsM2Pfassf: LP<OI. N>L

A)Fad Ay | grereT g g1 B)dhadl shY |l 9releT e &1

C)aT ar sy | &7 & Il &7 gTeleT @i &l D)erar fersast | 3R 1l & arele gidT Bl

In this question, one statement is given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statement: L> O =N <M 2P Conclusions: . P<OI.N>L

A)Only conclusion | follows B)Only conclusion Il follows
C)Neither conclusion | nor Il follows D)Both conclusions | and Il follow
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 48) (objection.aspx?qwr=3410135402&qwer=48)

Question No. 49
g AT FUROT AT W 20 ast 7 gareh g el §1 fohcder asf 7 Ig ar I@r @ smean?
A)80 a¥ B)50 a¥
C)60 ay D)40 a¥

A certain sum on Simple Interest become double in 20 years. In how many years it will become four times?

A)80 years B)50 years
C)60 years D)40 years
Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 49) (objection.aspx?qwr=3410135402&qwer=49)

Question No. 50
a¥ 1975 # 3ITcehTel ST ENYUT & TAT $IRT & IS Hid I?
A)QHT AT AT B)V.vV. Ik
C)mfeR gtet D)wEEE el IEHG

Who was the President of India at the time of proclamation of emergency in 19757

A)Shankar Dayal Sharma B)V.V. Giri
C)Zakir Husain D)Fakhruddin Ali Ahmed
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 50) (objection.aspx?qwr=3410135402&qwer=50)

Question No. 51
frT 7 @ FlaT sRaT #F TN vger IQT 3T 8?7
A)IRAR I e B)@isc IS et
C)ATTIRER T 3eTa D)SErR SERT SeTe

Which of the following is the first National Park established in India?
A)Periyar National Park B)Corbett National Park
C)Velavadar National Park D)Bandipur National Park
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Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3410135402&qwer=51)

Question No. 52
Th HEI H I T F oG FEA 9 Shg A S §1 IR aRomeh FEam F foaer X Er Srn & o 7w
81 & ST &1 98 T&AT Aled P
A)7 B)9
C)8 D)5

A number is doubled and then nine is added to it. If the resultant is trebled, it becomes 81. Find the number.

A)7 B)9
C)8 D)5
Answer Key:B  Your Response : C (Wrong) Raise Objection(Question No. 52) (objection.aspx?qwr=3410135402&qwer=52)

Question No. 53
T Feasit T AT 68 ¥l AR T N GEA & AT o ST 2 1 3 ¥ AN gEd AN A F g 5 : 3
&, o gqud war var FY|
A)30 B)20
C)28 D)34

The sum of three numbers is 68. If the ratio between the first and the second is 2 : 3 and the second and the
third is 5 : 3, find the second number.

A)30 B)20
C)28 D)34
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 53) (objection.aspx?qwr=3410135402&qwer=53)

Question No. 54
frafaf@a Seedr @ FaueigEE 0§ 3R A Re av g & sar &1 9] @i §-3iee, a9, 9% 3R
ATl $oT AT A J; ar Fr T gl F g, & fr fhde A, & REER §, wF TF IR v Faw § oW A
T UF IFESR A #F & 3N v g 71 dey afad For A &1 i) sty a1 dr REwn § R ar & &b
Gerdr §1 i) 91 Srel e @1 i) sjrehr T Werer 81 iv) a1 AR Qur Fhdkhe a8 Qo § BT 7 & Fe
e Qerdt 87
A)TTR B)arAr 3istelr 3R am®
C)grar D)3istelr

Read the following information carefully and answer the question given below. There are four persons—
Anijali, Banu, Charu and Deepa. Out of four persons, two are interested in hockey, two in cricket, two are
painters, one is a singer and one is a dancer. Each person has one outdoor sports interest and one hobby
connected with fine arts. i) Anjali is not a painter nor does she play hockey. ii) Banu does not dance. iii) The
dancer plays hockey. iv) Banu and Deepa do not play cricket. Who among the following play(s) cricket?
A)Charu B)Both Anjali and Charu
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C)Deepa D)Anjali
Answer Key:B  Your Response : Not Answered Raise Objection(Question No. 54) (objection.aspx?qwr=3410135402&qwer=54)

Question No. 55
T AT & Fole I 1.995 o TUA T &T F 99T g1 Th W dg 5% o 3N qg@ W, ag 5% glfel wred
AT g1 GX oieigeT 3 IHHN A AT Ffed AferreT ot &
A)2.5% gIfer B)0.25% &1feY
C)25% gIfet D)0.25% ameT

A man sells two flats at the rate of Rs.1.995 lakh each. On one he gains 5% and on the other, he loses 5%.
Find his gain or loss per cent in the whole transaction.

A)2.5% loss B)0.25% loss
C)25% loss D)0.25% gain
Answer Key:B  Your Response : Not Answered Raise Objection(Question No. 55) (objection.aspx?qwr=3410135402&qwer=55)

Question No. 56
Ifg 150 FT 45% + 170 H x% = 317.5 & 40% §, o X' & AF AF S|
A)29 B)22
C)30 D)35

If 45% of 150 + x% of 170 = 40% of 317.5, find the value of 'X'.

A)29 B)22
C)30 D)35
Answer Key:D  Your Response : Not Answered Raise Objection(Question No. 56) (objection.aspx?qwr=3410135402&qwer=56)

Question No. 57
200 & 5% @ 5% forcar gem?
A)25 B)0.25
C)50 D)0.50

What is 5% of 5% of 2007?

A)25 B)0.25
C)50 D)0.50
Answer Key:D  Your Response : Not Answered Raise Objection(Question No. 57) (objection.aspx?qwr=3410135402&qwer=57)

Question No. 58
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g FeE AT U I T FAC Fg 7T 1, 2, 3, 4, 5 {7 6 HAfFT & THT
T T AT AT AGEATHA Kl A4 ZE=TET TAT ¢ 39 6w, o 97 6
feam s g, % faia s 97 41 1€ " i Ara it

NelNples

Cc. |4 D. |&=H ¥ FIE 74T

A dice with six faces is marked with six numbers 1, 2, 3, 4, 5 and 6
respectively. Three different positions of the same dice are shown
below. Find the number on the face opposite to that which contains

6.
A 1 B. |2
C. |4 D. |None of these
Answer Key:C  Your Response : Not Answered Raise Objection(Question No. 58) (objection.aspx?qwr=3410135402&qwer=58)

uestion No. 59
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HRA & Ugell (ord faRafearay “shete Yo U3 W $&ege (NRTI)” F Rua #

AT

C)TeaT

B)@sIeT

D)3rgHcrsTe

India’s first railway university, “National Rail and Transportation Institute (NRTI)” is located in-

A)Kanpur
C)Patna

Answer Key: B Your Response : Not Answered

AT Y FaT AT 82
AT

o

C)&IeR

What is the currency of Greece?
A)Euro
C)Kroner

Answer Key: A Your Response : Not Answered

B)Vadodara

D)Ahmedabad
Raise Objection(Question No. 59) (objection.aspx?qwr=3410135402&qwer=59)

Question No. 60

B)frersd
D)shieh

B)Guilders

D)Franc
Raise Objection(Question No. 60) (objection.aspx?qwr=3410135402&qwer=60)
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